PART—I / wm—I

CHILD DEVELOPMENT AND PEDAGOGY / @& fae&d 3R Fren-vyre

Directions : Answer the following questions | 3% : freferfad el F am A F o wh/wm
by selecting the correct/most appropriate | Iugw fised gATl

options.
1. The development from central part of 1. Tl % A @ IR i an st <6 3R 5
the body towards peripheries or e Tl 32—

extremities denotes the—

(1) fafirfra forpra % Rrgidl #1

(1) principles of radiated development

(2) principles of decentralized develop- (2) ﬁﬂﬁﬁgﬁ forerra & frgral Ed

ment

(3) principles of proximodistal develop- (3) wer-ara faera & fagrl =t
ment

(4) S e % fasmE #

(4) principles of cascade development

2. School is an institution of socialization 2. 79 T F wET RO T Fn

of children where— & EI—
(1) schoolchildren occupy the central (1) 9@ TIH SEell =91 51 e &
position -

(2) school routines occupy the central (2) vgE T T A TS 1 2 &

position
(3) YHE WM e i et = 3’!31 T

(3) school activities occupy the central
g (4) @ T o % frewt w1 d d

(4) schoolteachers occupy the central
position

3. ¥@ M TF figs wp ¥ g2 90§ ol o
TR F A A R A T D G A

3. If you join a teacher fraternity and T ¥, @ 3 Wty W
choose to dress like most of the others ’ TR

in your group, you are exhibiting—
(1) W98 i vg=H

(1) group identity

2 EIRICAIG) |
(2) obedience- (2) ¥ R
(3) compliance (3) W FewI-3rguren =
(4) conformity (4) WY < JTHIA

pP-1I/M 2
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4. The concept of obi .
attained duririg PiJect Permanence is 4, frft T F WU AU T %

development. aget’s ____ stage of fFEE____ W % 9w § S R
(1) sensorimotor (1) qe-TTE

(2) preoperational (2) -

(3) concrete operational. (3) Tt R

(4) formal operational (4) fhEREn R

5. Individualized Education Programme is 5. =fwTa R FEE B AN F gl §

planned from the perspective of— - SRR S @

(1) Special Education Programme (1) o fien wrdwA

(2) Child-centered Education (2) ara-Hiza fen S
Programme

(3) T ferererft fusn wwiwn
(3) Open School Education Programme

(4) e-Learning Education Programme’ @ ¥ i

6 B o e ot s ot | e SR e 3 o
short sentences while speaking. W3 €
(1) 12 and 18- (1) 12918
(2) 18 and 24° - (2) 187 24
(3) 24 and 30 (3) 247 30
(4) 30 and 36 (4) 30 36

7. z?iqc::;e%tc v:xl'? :;aeltl:fince Quotient | 5 aeroey o s o 61 e & 7
(1) Galton (1) fei % g
(2) Binet. | (2) o & gmr
(3) Stern (B) = Fww
) “Tennan 4 = Fm

P-1I/M 3 \ P.T.0.
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orTeTRal # IEUR } we
8. Creativity is thought to be related to * W;’W%I b

the concept of—

(1) fluid intelligence (1) = =fgar
(2) crystallized intelligence (2) W@RR sfgwdl
(3) convergent thinking (3) uﬁ@g-{:ﬁa
(4) divergent thinking ¢ (4) fafyw 9=

9. The acceptable sound combinations of 9. frdl w1 & W @ i 9 3o

a language are specified in its et ¥ afeta = < 2
rules.
(1) phonological - (1) wfi-gad
(2) grammatical (2) =S
(3) syntactic (3) SIS
(4) inflection (4) favfe-fasas

10. The position where thought patterns | 10. 5= W4 ) ufFar fedft s g0 wwfaa &t
are influenced by language is called— B, U Ry = e $—
(1) cultural tendency (1) Wﬁ{gmﬁa
(2) linguistic determination (2) v fuifa
(3) cognitive bias (3) T TE
(4) sociolinguistic genesis (4) WTIRTE- TS =y

11. Ravi re;zairs appliances by testing
hypothesis about the cause of the | 13* I I St el & s s 4
malfunction based on his experiences Gl & FNU Y qiee w1 ghen WA
with the symptoms. He uses— SR N HOH O | TR I HA 2
(1) insight- (1) 3fagE =
(2) algorithms (2) Fem-fafy =
(3) mental set (3) TR g5 =
(4) heuristics (4) St Rl =

pP-11/M 4
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12-

13.

14.

15.

Divya often divigeg the
into small taskg which s
easily. She is ysg;j

assigned job

h
ng ¢ can handle

(1) reductionism
(2) secondary elaboration
(3) subgoal analysis,
(4) functional fixedness
“Society determines

male and female.”
articulates—

the
This

roles of
statement

(1) gender as an inherent construct
(2) gender as a hereditary endowment
(3) gender as an intuitive construct

(4) gender as a social construct _

Grading, coding, marking and credit
accumulation systems are some of the
examples of—

(p evaluation procedure of answer
sheets of the examination

(2) symbolizing position of children in
the class

(3) depicting the academic progress in
report card ©

(4) scoring procedure of assessment of
learners’ achievement

Assessment of learners’ achievement
helps the teachers to—

(1) maintain the performance record of
learners

(2) evaluate the effectiveness of

pedagogy /

(3) make ability grouping of learners in
the classrooms

(4) prepare activity log for teaching

P-I/m

13.

14,

15.

(3) Iueied fereraw faifty =1

(4) Torarenss srgan Fram faf 1

o i wRen B ftee @ Pt w6
w1 21" 4 A Far § fh—

(1) <fireran T sfafifea @ @

(2) <firhdl T SR TR R

(3) <ifirera T STagil STEa R

(4) <firHdl T WIS ST &

¥ %0 R[EW .

(1) Then & SW-9a! & el Wil

(2) en § o=t B fufa i fewo fafu

(3) ﬁ-ﬁ(ﬁtﬂim)ﬁwﬁmmﬁ

(4) sfrmeaieli f Il F AFe H
ToR-fafy

Aitpmraial 6 Sycfey 1 AFer faent A

W Rl 8—

(1) rfireraiel & e 1 fenie w o

(2) Thewr-srfrm f&ftm Y gymEsfiear =@
el &

(3) wast A fmwdisll ¥ ama WE
ECich:

(4) Foeor % forg nfeffirdt ) g dam )

[ P.T.O.
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16. Inclusive Education is based on the
principle of—

(1) social equilibrium
(2) equity and equal opportunities
(3) social existence and globalization
(4) world brotherhood

17. The Rights of Persons with Disabilities
Act has been enacted in the year—
(1) 1992
(2) 19957
(3) 1999

(4) 2016

18. Children with individual differences

should be taught in a school having
teachers— ' ' '

(1) to teach in different sections of
classrooms based on their
individual differences

(2)/ trained to use different pedagogy to
meet their diverse learning needs

(3) trained to teach children with
specific individual differences

(4) trained to make them homo-

geneous learners

P-II/M 6

16. wamaeh fen % fia W st
(1) |mIR GgeH
(2) WA T HAH AT
(3) wmIferR R T aveteR
(4) forea sy
17. Re=aimem sifter a?ﬁﬁm ™ __ i
Torm T R
(1) 1992
(2) 1995
(3) 1999
(4) 2016
18. =ftea ffuaedt ot a=t = won % foo 2@
feremrera a1 =nfee e faregen—

(1) aﬁmmﬁﬁumaﬂ%mmmwﬁgmﬂ
TS Bl & Al il § ver %

(2) fafay siftem sl % sgan Rifm
fogo-aftrm st = wm g &
v &

(3) faftre =aftrm fafrmad ot ==t ) ey
% for wftfera &

(4)aﬂﬁmﬂfﬁ7mmimﬁ
wftfa &
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19. The Rilght of Children fo Free and
Compulsory .ducation Act, 2009
ensures the rights of childr::n with

{1] 6 Years to 18 years_
(2) 3 years to 18 years
(3) 6 years to 14 yearsy
(4) 6 years to 22 years
20. Providing teaching-

in accessible form
learners implies—

learning materials
ats to the diverse

(1) Universal

\ Inclusive Education
Ethical Considerate ~

(2) Universal Code of Teaching
Practices

(3) Universal Humanistic Approach of
Teaching

(4) Universal Design of Learning

21. involves self-awareness and
control of cognitive abilities, e.g.,
planning, reviewing_and revising, etc.
(1) Centration
(2) Metacognition”

(3) Cognition
(4) Accommodation

22. When children think to interpret the
received information atcording to their
experiences, it is called—

(1) reflective thinking
(2) creative thinking
(3) abstract thinking.

(4y concrete thinking

PI/m

19, s wd a9t e fuwR st
20%?1%@113%1’1@1?1:% e & arfrny
= R Fa 8 —

(1) 699 A 18 a9 a & fe1g
(2) 394 @ 18 98 7% ¥ forg
(3) 694 A 14 94 & & faQ
(4) 6= @ 22 78 7% & Ty
20. fifay sftmdlall % T gma wwed #

gu-aftrm @wfiEl WA FE w1 qed
q R

(1) T aamash Rien % i faeam
2) g e 6 g i
(3) g % wrehifies AHEETd gfwm

(4) it i g g

\

21. WEERAl W@ HIETHS GHAI w1 T,
AA—AS T, GHiE HET 3R G w5
T ¥ ofafifa €

(1) s
(2) HFey
(3) ®am
(4) e
22. Y@ 9= W< ) gEel © = w73
e o ol % aum w B & A
— 8T ST R
(1) i 9
(2) e Hig
(3) ¥ H
(4) 7 |

G
L)

[ P.T.O.
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23.

24.

25.

26.

" task. He is using

Teaching learners at varying I.CYEIB of
difficulty based on the ability of
individual learner is known as—

(1) differentiated instruction,

(2) selective instruction

(3) precision teaching

(4) errorless instruction

Maintenance is the specific stage of
learning which is antecedent to

stage of learning.

(1)
(2)
3)
(4)

acquisition
motivation
independent

generalization -

Zajonc believes that cognition and
emotion are—

(1) interdependent

(2) independent

(3) interrelated -

(4) integrated

A teacher is teaching children by
demonstration of a task to correct the

performances of an already learned
method of

teaching.

(1) imitation
(2) observation-
(3) correction

(4) modelling

p-1I/M

23.

24,

25.

1

sftrmreratatt ) SFRETd &aT & SR T ITH
Feat ¥ faftm = A @ w@d ¢ R
$ Ry = e Sl 2

(1) fadd srgeem
(2) Afa rgeeH
(3) wte g

(4) T I

it 3tfirm =1 T fafie = g, s sttt
% T 1 gHadl #

(1) siftpem

(2) iR

(3) SArenfnfa

(4) |EHITR

el 1 98 9§ T d W AR vE
B B

(1) ==t

(2) @A
(3) Stadsitm
(4) whiFa

T A €@ gr @l A gur wn ¥ R
i ==t ) werla T v @ %) T R
N ___ iy swmwmww

(1) sgFm
(2) 3=
(3) WM
(4) witreqo
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27. According.to Mann and Janis, decision
maker children analyze the problem,
list the alternatives ang weigh each

oPtion for its advantages and
disadvantages, His behaviour reflects—

(1) surveillance
(2) vigilant.
(3) outgoing
(4) autocratic
28. In thinking, a child as a problem

solver evaluates the truth or likelihood
of statements,

(1) creative
(2) aesthetic
(3) abstract
(4) logical”

29, The task in which the children get
experience while enjoying themselves
is known as—

(1) drill and practice task
(2) consumer type task
(3) producer type task

(4) problem type task

30, Multisensory approach in teaching-
learning is the simultaneous use of
visual, auditory, tactile and
senses to enhance learning.

(1) kinesthetic ¢
(2) vestibular
(3) perceptual

(4) observational

P-II/M

i ofn Afw ¥ ogER, Pl @ 9@ =
T |YE F w0 ¢, fawedt H g T
L

% iy e W ofR TFEA A
Fram ) ¥ | ST TG I FA

28, T WHH QU a1 ferem < aum W
FyAt 6 G=TE A1 ST 1 Hodie Tl 8l

(1) GRS
(2) Hieday
(@)
(4) wfsH
29, fi Ry T @ A FA T 9= T|E AR o
T NG WIH B €, I el el &
(1) f&m iR s =0
(2) 3UMRHI TR F FE
(3) Fionens yR 1 w1l
(4) HETHF THR H FE
30. Wg-vadl fogmu-sfrm & wfafr F arfiom-
wadd ¥ g, =, W el wdenedi
1 TF WY w40 R S R
(1) Tfceas
(2) Fo-Fx
(3) weefio
(4) s

[ P.T.O.
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IMPORTANT : Candidates have to do
Question Nos. 31 to 90 Either from Part—II
(Mathematics and Science) Or from
Part—Ii1 (Social Studies / Social Science).

wgeaqul : LRI B IR W 31§ o
sm—1 (7ftr 3 famm) A sm—yy

s [ | ) § w0 )

ny

iy

PART—II / «{ivr—II
MATHEMATICS AND SCIENCE / T 3R fomm

Directions : Answer the following questions | fidyr : fimfifad Wl & W 3] & ferg Hﬁ/m
by selecting the correct/most appropriate g faswed gRT) ‘
options. a4
31. In a meeting, % of the members were 31. W ¥F A, weed # @ 25 “1%?"7@ ’ﬁlq
- female. What percent of the members aaet = fahen wfasra en?
was this? (1) 40%
(1) 40% (2) 24%
2) 24%
(@) 24% (3) 16%
(3) 16%~
(4) 4%
(4) 4%
_ _ 32. TH ghH A HTH Fmal § 10% w4 )
32. A sho_p reduced 1.ts prices by lq%. THA 6 7 Fa w2, S ‘T:ﬁ ¥ 500 ﬁg
What is the new price of an item which STt of?
was previously sold for & 5007 )
(1) €510 (1) ¥510
(2% 550 (2) ¥550
(3) ¥450 (3) ¥450
(4) ¥400 (4) ¥400
33. Given below is a data set of [ 33. 9 AR (°C &) w1 v 27 ¥z R T D
temperatures (in °C) : -6, -8, -2, 3,2,0, 5, 4, 8
"6: "'81 "'2r 3\: 2! 0: 5. 4_': 8 @mmm%?
What is the range of tHe‘datal,? (1) 0°C
(1) 0°C
(2) 16 °C
(2) 16 °C
‘ 3) 18 °C
(3) 18°C @)
M) 0% (4) 10°C
SPACE FOR ROUGH WORK / % %1 ¥ f7q wme
P ng (O " |0 2 70
. v \ G/ ~ o«

f

7
/%

7~

7

\do

9(; . 50’0 \“fd
o\

e
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34. A coin is tossed 10 times and the
outcomes are observed as :

H’ T! H! T; T, H, H, T, H’ H

' (H is Head; T is Tail)
What is the probability of getting Head?
m 3~

(2)
(3)

(4)

U= N n|d O

35. The numerical expression %+{:n =25

8 56

shows that—

(1)/rational numbers are closed under
addition

(2) rational numbers are closed under
subtraction

(3) rational numbers are closed under
multiplication

(4) rational numbers are closed under
division

36. Which one of the following 3D shapes
does not have a vertex?

(1) Pyramid
(2) Prism
(3) Cone
(4)-Sphere

37. If [%)4 X (%)—3 =(%)5x_2, then x is—
(b
(3)

(2)

(4)

gl |~
nld N

34, us @ 10 9R ITTEN W@ ¢ A o
Eﬂﬂﬁ?ﬁﬁﬁﬂﬁﬂﬁfﬁ%=

H, T,H T, T, H HTHH
(HfEa g TR )
o STE F Y AT T RY

(1)
(2)

(3)

al~ win nid nlw

4

e i 34 £ 225
35. FEHORH A =+ 56%@1?{1%1%;—

(1) e Fead 4m % e e Al §
(2) it e Sase o Siid 69a T §
(3) Uit dEaTd M % e T Bl &
(4) widE dEan fE % Sfwtd d9d A §

36. fr=fuflga 3D il # @ fred o
B 27

(1) frfre
(2) forew

(3) WF
(4) Ten

a7. R (g)q x (%)_3 =[:57_)5x_2 R, A xd—

1
(1) T (2)

(3) = (4)

nld N
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38. Let a, b, c be three rational 5

39.

41.

42.

numbers,

= 2. Which
where a=g, b=§ and ¢=—

one of the following is true?
(1) ax(b+c)=bx(a+c)
(2) a+(b+c)=b+(a+c)
I3y a+(b+c)=c+(a+b)
4) a-(b-c)=c—(a-b)

A geometric representation, showing
the relationship between a whole and

its part, is—

(1) histogram
(2) pie chart,
(3) bar graph
(4) pictograph

. If g is the square of a natural

number p, then p is— \
(1) the square of q\

(2) Ahe square root of g

(3) equal to g

(4) greater than g

The value of y91++70+ 4121 is—
(1) 9 ) 10
‘@) 11 (@) 12

In a park, 784 plants are arranged so
that number of plants in g row is same
as the number of rows. The number of
plants in each row is—

(1) 18 (2) 28
(3) 38 (4) 48

38.":|'|f'>1'?31=‘=F aizb’ c?ﬁ?_gﬂﬁﬂﬁwié,%
a=§’ bzé-amc:?%'ﬁ':‘%fﬁaﬁﬁ
H-91 9 of

39.

40.

41.

42,

. (1) 18

(1) ax(b+c)=bx(a+c)

(2) a+(b+c)=b+(a+c)

(3) a+(b+c)=c+(a+b)

(4) a-(b-c)=c—(a-b)

g Frea, st R iR IEe ey
way feamn 8, 3—

(1) fe=mm

(2) wT§ =

(3) T AE

4) foaea

IR g T WISHis T p H R, @A pio
(1) g==.
(2) g =igw

(3) g ==
4) gd ==

J91++70 + V121 %1 7H 2—

(1) 9 (2) 10

9y

(3) 11 4) 12

T U ¥, 784 4 =qafRa fg s & @
uieh # et i e, iR i e F e d
B | W s 3 et 6 wem —

2] 28

(3) 38 (4) 48

SPACE FO
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43. If two quantities x ang Y vary inversely

with each Other’ the ‘
following is true? n which one of the

(1) Rat.io' of their corresponding values
Témains constant.

(2) Product of their corresponding
values remains constant,

(3) Summation of their corresponding
values remains constant,

(4) Difference of their corresponding
values remains constant,

44, Given

Ty
X6
r , yyy

Then the value of y is—
(1) 8

R

@) 6

4) 2

45. To fill a rectangular tank of area
700 m?2, 140 m3 of water is required.
What will be the height of the water
level in th€ tank? I

(1) 10 cm

(4) 40 cm

43, 7 A TRmEl x M y - F o v |

Hza-agd &, A Fefafaa # 8 ¥R w37
(1) 3% GEloa A H AW AR
Tl gl

(2) S Helfd WAl H TH THEAR =
gl gl

(3) ST i@ T W AN HEEE =
@ 2

Tl B

44, T
7y
%6
yyy
qd y <hl HH %—
(1) 8 (2) 6
3) 4 (4) 2

45. 700 m? SF%e % Th AAHN &5 HI TA F
T 140 m3 9rflt i savEwar #1103 § O

% wR A S=rd = wrle
(1) 10 cm
(2) 20 cm

(3) 30 cm

(4) 40 cm
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46. Which one of the following is the most

suitable strategy to teach the skill of
addition of money?

(1) Use of ICT

(2) Role play.~

(3) Use of models

(4) Doing lots of problems

47. After teaching the concept of multipli-

cation to her class, a teacher asked her
children to multiply 48 by 4.

One of her students solved it orally
as “To multiply 48 by 4, we first
add 48 to 48, which makes 96 and
then add another 96 to reach 192. So,
the answer is 192",

What can you say about his/her

strategy of multiplication?

(1) The child used a wrong method to
multiply. -He/Shé has to use the
place value algorithm to multiply
the numbers.

(2) He/She has not understood the
concept of multiplication.

(3) The given problem is a multipli-
cation problem and not addition
problem: '

@ He/She understood multiplication
as repeated addition.

48. Which one of the following should

be taken- up as initial activity in

introducing the concept of ‘time’ to

young learners? '

(1) Discussing about the prior
experiences with phrases related
to time )

(2) Teaching children how to read time
in clock :

(3) Teaching children how to calculate
elapsed time

(4) Conversion of time
units

in different

46.

47.

48,

frfefea & 4 g1 % 9 T BN TR F
fore vl 39y WHfa FA-H1 27

(1) 3MZo Ho Fo 1 I

(2) T =

(3) Wil &1 w@m

(4) =Ed W TR /S T HAT

O hell F TN N EYRIT A T@H F AR,
& g 3 99 991 @ 48 9 4 8 o FA
= F|

Th TE F A Y @ e w9 A B
T, “48 F 4 A on A F T T vES 48
A 48 ViEd %, PE@ 96 s an i fiw
96 3T WEd &, @1 192 a1 8| T8 YHR IN
192 %"

TN hi IR WHITG F TR K W T TR
Ha 87

(1) ==9 3 o0 FA & o e Rty =1 3w
fram wEmett & n W ¥ o ®
T A YenRed 1 ITE0 F1 =18

(2) 3q T i SFEREn gu F T8 o R

(3) & T W TH oM WHEN ® IR AW H
T T R

(4) mﬁuunaﬂm—am‘rﬁamﬁm%l
T B W N FauRm F TN FA

fog it wfifafy & w9 ¥ frefafe § 3
FH- A S =fee?

(1) 73 ¥ deftr amint % @ g el &
TR A F=1 w0

(2 ==t N w1 5 uf § ' R FW
el Sg

(3) == M ygr 5 <N g W@ H WA
W Ht

(4) fafia smat o ma =1 ST w

SPACE FOR ROUGH WORK / % &M ¥ Tt w8
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lowing is not the | 49, fr=fifad § ¥ FH- e = Xxw 7 47

purpose of assessm

i ent?
q A. Monitoring studeny’s —— A. ©F % fawm i P e
"i n Making instructional decision B. & fefa <
C. Evaluatin . , T
g8 the eff q A
b senrad | effectiveness of C. WISRH < ITEferl 1 e e
X , UETH % YR R =T 1
D. Ranking the children based on > ‘ oy
performance ﬁ%ﬁqmﬁﬂmﬂﬁmﬁﬁm
Select _the correct answer using the
code given below. (1) A
(A (2) D
(@ D (3) B
(3) B
! (4) C
4 C
. , . 3= Wiufieh TR W M YR % T Frafafaa
50. Which one of the following methods is S0 3 -0 fafty g=) it 3&?
r most suitable for teaching mathematics :
- at upper primary level? (1) weuiq fafa

1) D trati
(1) Demonstration method ) By

(3) fufafi-snwmia sfem

(4) wwE-wAaE faiy

(2) Lecture method
(3) Activity-based learning
(4) Problem-solving method”

51. Which one of the following is most | 51. 38 Wrfid ¥ W e wfrm ¥ fae
essential in learning inathematics at Freffaa # § FF-m TR Al smEEs 27

i level?
upper primary leve ) T 2

. 2) TRl T A @ A F fabim af R
(2) Exploring %rent ways of solving @) S5 T

a problem
(3) ®ft g F IR F

(4) T < w i forean &, @ W@ @ R
o AT :

(1) Solving a problem many times

(3) Memorizing all formulas

(4) Copying correctly what teacher
writes on the board

SPACE FOR ROUGH WORK / w8 & g S8

S e

e
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used in the

52. The strategy of questioning 5
er primary

mathematics class at upp
level—

discouraged as it

1) shoul b
i 5 ho is unable

demoralizes the child w
to answer -

(2) makes the classroom noisy as the

children would be talking too much

(3) could create stress among children

and may lead them to accept the
teacher’s authority ’

(4) helps children to e€xpress their
thoughts or understanding and

think critically

53. A teacher has taught measurement of
area to class VIII ¢hildren, but many of
her students are confused between the
usage of -different units of area and
volume. What could be tpc reason for
such a confision in ‘children? ’

A
(1) The children did not know the use
of units for area.

(2) The children have not memorized
different units.

(S‘J/Diffcrent units have  been
introduced all together without
relating them with their daily life.

(4) The concept of measurement of
area is a difficult topic for a
class VIII learner. T

sz.ﬁmﬁﬁwmnﬁmﬁmmﬁmﬂﬁ
areh qEa® i WHtfi—

2 FeleEfed FE AIMET HifF T8 39
() T A 8 sl 3

(4) o= F1 I R 91 wHE Fh FA Ak
TeIATeHT 9 @ G | #ee !

53. T fuas 3 F&1 VI % G Sl EA6 AW
Ry 2, A 9% S O Gl 3 AFH
) faftm Eal F Swdm & 9 A A R
=01 & 36 O F YN F RV 1§ Gl 87

(1) ==t | dIFa H THERE T IE T
7 A1

(2) ==t % fafie gedl = 9 T R R

(3) W—W?ﬂ?ﬁﬂaﬁm%ﬁmvﬁmé
H‘q‘fgﬂmﬁmmﬂﬁ@mm
T R

(4) F& VI ¥ Ruenef§ F Rq doreer 7 A
SqURYN TF i fma B

T

RN e .
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54. Which one of the

fD}IOWing can be the
alm of encouraging
Communication

\

mOSt appropriate
mathematical
classroom? -

(1) Children should be

precise language while talking
about mathematica)l statements
and using them

able to use a

(2) Children who have fear about

Fnathematics should be able to
Interact in the class

(3) /To organize debates in the class
regarding topics of mathematics

(4) Children should be able to recite
theorems  and

_ formulas
mathematics class

in

55. The purpose of a diagnostic test in

56.

mathematics is—

b
(2)
(3)
(4)

to know the gaps in children’s
understanding

to give feedback to the parents

to fill the progress report

to plan the question paper for the
end term examination

Remedial teaching is helpful for—

(1) teaching the whole class

(2) rccapifu}ating tl;e lesson

(3) teaching in play-way rmethod

(4) remov.ing learning difficulties of
.~ weak students

54!

S5.

56.

e 1 TR AT Y MR F

Iyges e Frafafad # § F9-91 9 v 37

(1) "R feel & TR F W@ F@ gy i
T 1 3T F # wEE A =iy

(2) @ & TA T T R BT A g
Tt Fw (3Fa:E) | wam @ i

(@) TE F famdi F M F Fa § weg
SR FE

(4) == H @ A FF W@y

e
T § ved {1 =R @

TG 7 Aeres Tlee w1 Ry 2—
(1) s=at A F9a F AR A=
(2) wra-fa =t wifrmn 3

(3) wifer fedtd s

(4) siftm sEly N e ¥ Ry vw-13 H
AT ==

ITRIeT Fiem g 2—

(1) F0 & F wgn % fau

(2) W Hi gREh ¥ fe

(3) @wr-wm farfty g e 3 fig

(@) m%ﬂﬁw@%eﬁmﬁiz
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57.1’71'::11%@?113%@?{—#1@%%

wing is not a

57. Which one of the follo sl
mathematical process?
(1) Visualization (1) i
(21/Mcmorizatjon 2
3), Estimati
(3), Estimation 5
(4) Measurement
(4) T
58. “Errors play a crucial role in learning of _
mathematics.” This statement is— _ ) )
\ 58. ‘,li’alf‘l draq o aﬁm T W{ ‘Lﬁﬁﬂ o
21" I8 e —

(1) false, because errors occur due to
carelessness

(1) 39, FifH TATRETE & Hro it g &

(2) true, because errors reflect the

< thinking of child " ’ (2) v, Fifs el 9= A 9= ) i §
(3) false, because mathematics i
athematics 1s exact (3) 3@, Fifh T W R
(4) true, because errors id .
feedback about the markzrot‘ge; (4) v, wifs oA WS F AR A
< obtained itz yer €
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59. While teaching ‘shapes’, a teacher can

60.

plar{ a trip to historical places, as—

A. 1t needs to provide leisure time as
most of the syllabus has been

completed in time

?t would be an opportunity to

lmprove communication skill

C: /shapes are an integral part of every
architecture and .

B.

such trips
eéncourage connections across
disciplines '
D. field trips are recommended by
Education Board, so must be
organized

Select the correct answer using the
code given below.

(1) A and B

L2y c

(3) B and C

4) A, C and D

A student was asked to calculate the
surface area of a cube,. - ‘

He calculated the volume.

The reason(s) of error in calculation

is/are—
A. the student finds the class
boring as he does not like

mathematics class

B. the student is not fit to study in
that class ' , :

C. the student is not able to
understand the concept of surface
area and volume

D. the student has understood the
concept of surface area and volume

Select the correct answer using the
code given below.
Al C

(2) B and C

(3) D

(4) A and B

59'

60.

‘e *qgﬁ gq4, Th IRCE R I T
) 2 Y A S §, H—

A, EHE GHE TG FW Gl EvEmar R
wifs AfERm TS W W @ Q)

qF 8
7§ TR e A GUR FH H @ [

C. AR & w1 T At e g
R 3@ @ H AE G F dEy
Mearted F §

D. fian 9 3w dee B9 i frwfwm H
S B, 3EfT TR TESA aw fe
AT =1fRY

92 e 7Y F2 F TG W T IW gAY
(1) A3 B '

(2) C

(3) B3R C

(4) A, C3RD

T O & Th 9 h! Hdg 1 &b Haler &
fore svgr T A
I A e

o 3 3R /% Hro R/ E—

A. BHE FHE D IS a1 8, Hih W G
H FeT goE T

B. O 30 H& ¥ AwE 0 % foe s9gw
TE R

C. B Hdg &l SA%e 3R T 6 JFumon
H T F e 7€ 2

D. B[ ¥dg & &% 3R 1™ad i auron
1 9 T §

e o e 2 < wEm w wd w g
(1) ¢

(2) BalrC

(3) D

4) At B

w
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61.

62.

The longest snakes ‘found in the
world are—

(1) vipers

(2)anacondas

(3) boas

(4) reticulated pythons

Yoga is done by the people in the world
because—
(1) it is a simple exercise

61.

62,

FOR T 9 ST 9T 999 @ 99 3—
(1) IR

(2) TARIST

(3) =

(4) SRR 3R

Tervasr B it g A foR S R, iy
(1) 98 T AEH ™M 2
(2) I8 NI =l TRy Tl

(2) _it keeps people healthy (3) TE @ werd @

(3) it increases hunger (4) =& gl w3

(4) it brings happiness 63. 37 % 4% w1 R ___ % g fr
63. The vaccine for smallpox was (1) = |

discovered by— (2) T wr

(1) Ronald Ross (3) TeaE 3w

(2) Robert Koch @ .

(3) Edward Jenner

(4) Alexander Fleming 64. Fimfafen 3 & fraem 3w U= vive ¥ w
64. Which one of the following is used as ﬁﬁﬁmvm 8

preservative? (1) HR Fethe

(1) Copper sulphate (2) wifsam Seie

(2) Sodium benzoate (3) 1 fw ehe

(3) Ammonium sulphate (4) wfsam wiRmEe

(4) Sodium chloride

. 65. AR I 3TN _ % IqreT F i sy 2

65. Yeast_ is used for the production of— (1) wEE

(1) alcohol -

(2) curd-~ () =

(3) sugar (3) =

(4) common salt (4) SR
66. Mitochondria : ATP ! Ribosome : 7 66. Wﬁaﬁ%ﬂ Qo o o :: M : 7

(1) Carbohydrate ) (1) FrETerRge

(2) Fat (2) =@

(3) Protein (3) WM

(4) Vitamin (4) frifA

SPACE FOR ROUGH WORK / 1% ®1 & fiq <Ig
P-TI/M ~n
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ol | D —_—F =
A
67. If the frequency of a simple pendulum

is 2 Hz, how many oscillations will it
complete in 16-seconds?

(1) 8~ (2) 16
(3) 3

(4) 64
68. Which one of the following metals
burns if kept in air?

(1) Sodium
(2) Magnesium.~
(3) Zinc
(4) Aluminium
69. Magnesium hydroxide [Mg(OH),] is
used as—
(1) oxidizing agent -
(2) reducing agent
(3) anti-acid
(4) fermentation agent

70. Which one of the following gases burns
with pop sound?
(1) Oxygen
(2) Hydrogen
(3) Nitrogen dioxide~
(4) Sulphur dioxide

71. Which of the following is/are example(s)
of non-contact force?

(1) Gravitation force
(2) Muscular force
(3) Magnetic force
(4) Both (1) and (2)

72. Diabetes is
hormone.

controlled by ____

(1) thyroxine
(2) adrenaline
(3y insulin

(4) thymosin

o7, o e g 0 g 2 ), A

68I

69.

70.

71.

T2.

16 e F PR Ao T BT
(1 8 (2) 16

ceffaa @ FA- o1g TG T TH R S
3 &7

(1) wifeEm

(2) B

(3) <t ()

(4) Yeafifm

Mffrm TRgEEEe  Mg(OH)p) &1 STm
_ % w1 T S R

(1) TR

(2) 9=l FRH

(3) wfa-3r=1

(4) Tepvaa R
Beffag ¥ -6 9 90 N =H F W
HeAd! &7

(1) HTedisH

(2) TS

(3) TEEH SRATFES

(4) HoH SIRATHTES

frafafea § § FR-T/A SWTH T H/F
JaTEW /%7

(1) o I

(2) Wi =

(3) T &I
(4) (1) 3 (2) 3

AR W e Bl R Tafm @ @2
(1) orRifaas
(2) TgAfer

(3) sgfe
(4) wEEIRA
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' frefafaa # @ FR-E W g
73. Which one of the following not a | 73. qﬁ%‘?ﬁm R s F
product of petroleum?

(1) Kerosene (1) Pt ot
@) CNG~ (2) Ho To Tfle
(3) Paraffin wax (3) bt =
(4) Bitumen (4) forgi
74. Red Data Book contains a record of— 74. s Yo o ___ 1 i T B
(1) endangered species, (1) Herem= wemfaal
(2) extinct species (2) fergge wemfea
(3) flora (3) =k
(4) fauna | (4) T
75. Why are the soles of the shoes treaded? | o s & et srearer it g T3 &7
(1) To give the shoes more protection (1) < = o T 33 % R
(2) To decrease friction_ 2) e T Ry
(3) To increase friction (@) <o T & Ry
(4) To increase life of the shoes @) < 1 < T Ry

76. Sarika took distilled water in a bottle
and tried to find whethér it conducts | 76+ T I YA I T aaa A o i

clectricity o not. What is she likely to | ygmg‘;ﬁ%@g g ¢
(1) It is good conductor of electricity/. (1) e e I ¢

(2) It is an insulator., (2) T® T Tergaeh B

(3) It is poor conductor of electricity. (3) & e 1 FIR T R

(4) None of the above (4) 3T A | HR T

SPACE FOR ROUGH WORK / & Fd & ot g

-— YT /AR
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77. Wthh one of the following statements
1s not correct?

(1) Thereisa minimum limit of current

“fhu:l:r can safely flow in the electric
Circuit. i :

(2) There is a maximum limit of

current which can safely flow in the
electric circuit. .

(3) F}Jse's are inserted in electric
circuits of all the buildings.

(4/) If the proper fuse is inserted in a

Fircuit, it will blow off if the current
1s more than the safe limit.

78. Which one of the following places is
most likely to be affected by a cyclone?

(1) Porbandar _-
(2) Puri

(3) Mumbai

(4) Goa

79. The change in seasons on the earth
occurs because—

(9/ the axis of rotation of the earth

is perpendicular to the plane of
its”orbit - . :

(2) the axis of rotation of the earth is
tilted with respect to the plane of
its orbit

(3) the distance between the earth and
the sun is not constant

(4) the axis of rotation of the earth is
parallel to the plane of its orbit

7. Treffiad # ¥ HH-T1 Ho E T 7

78.

79.

qfy A grf?ﬂa Tarfed B9 %
2 Efgéﬂmﬁwmm

Tepeft qﬁquﬁgrﬁmwﬁaaﬁ%s
. m%mm@ arfireram € 7

(3) W s ¥ e oRedl A e @
M £
(4) afk wfwy § I0gH SRS

S Gl
gifira € A arfaes fowpg v EH W TR
Ig S|

fraffas # ¥ fre wm A IR A vl
i wferd &1 <l HTErT 87

(1) GER

(2) 0

(3) =

(4) e

gl W g SEedl 8, Fifh—

(1) et &1 ol e gE wEn Foa@ *
B

(2) 9= 1 YU A& TEH FE F A b qOE
ECaR SIS

(3) ge=ht ol d F g i gt Fraa T R

(4) 9=t W P W@ TR HEN F a9
TR 2

SPACE FOR ROUGH WORK / T& %M & fau sme

P-1I/M

[ P.T.O.
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80. 3 T, T—A 3R w—B fay mu § .

—A
80. There are two columns, Colum1 B
and Column—B : W —A TE—p
.--B . .
Column—A Column @ 3 SR () % o ot &
(a) Canopy (i) Dead plant :nd Td Fa®
i tissue ) . .
, anime ) (b) HUEEH (i) TR STEH S
(b) Decomposers (i) A wild animal i g
(c) Humus (iii) Microofrganism e a;‘—’“a |
(d) Porcupine (iv) Branches of tall (d) ¥ (iv) =< 94 i wman
oniio Pt & wF-a R T T—A ¥
Which one of the following 1S the > SR B @ TE?_FTT?

correct sequence of Column—B for the
given sequence of Column—A?

) ), @), G, @)
(1) -6, 6, ), [ |

@ @), Gi), @), @)
A2, (@), (i), (v)
3) (iii), (iv), (ii), (i)
@) @, @), 6@, 'S i

@ ), @), 6, 67 SR T .

81. Why is formative assessment important | 81. REW % W e i ewqd 27
in science?

(1) It is easy to conduct. (1) & T EH B

(2) e foefial A amfae e % fawm d

DY o, s | e
(3) It is diagnostic. | (3) T& femmom &1
4) It ‘helps in better understanding of (4) 98 fram it =3 YR A WM § werw
science, 2
SPACE FOR ROUGH WORK / % %M @ feiq g
pP-II/M na
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82. Why are scienc

schoolsn ¢ fairs "organized in | 82, ﬁ%@ # fam T F AR w= fRy
(1) zsuclzrgsal‘f% students for higher (1) FoenfiEi = famm & 3= fan % fag daw
N in science A F o
(2) To help the students to s
: core = Xia:

higher in their examination (2) mﬁmﬁ w ;ﬁ %lﬁ T 34 W
To  nurture creativity  and .
experimentation in science among (3) fanfdia & foH 7 FH @ W w0
students et o1 T % fau

(4) To evaluate students on the basis (4) Fenfdat =1 9% JeIH * 3“‘“'( ™
of their performance TedTeR FA % Tag

83. As a teacher, which one of the following
do you find most appropriate for

83. T% e % = Fefaiad 3 8 R s fiem

a'inﬁaﬁ 3I9gth ET,'Q% 7

scientific approach to teaching? | foren % fere s i

(1) Clarify the students about the (1) foenfidi =0 Fan # rEuwonsd W we
concepts in the class Rl

(2) Show the use of technology for (2) Faurons] % gl gg THAH F O
teaching concepts @ {

(3) Give projects to the students (3) fenffat =t afEisAT <

(4) Ask the students to perform (4) wEuons A deftm  TRERE =
activities related to the concepts e |

84. According to NCF-2005, “good science %
education is true to life”. What ‘does 84, To HWo THo—2005 & 3I’IER, =3l ACRIC!

this mean? ) fren <fem & wfa wcd R ?7) T w Al
: ??
(1) Science should prepare the child to
the world of work. (l)gjﬂﬂmﬁmﬁgﬁmﬁm%@
(2) Science should be able to engage | _
the child me‘aningfl.‘illy. (2) fm B sl @ 3 = 7@ F
(3) Science should enable the child in e A |

learning the processes of acquiring
scientific knowledge.

(3) Tagm e 1 Wb T ARG F R

EERIE Ekciteeisiccac g
(4) /lsi;;eience should help in living easy ) el a

SPACE FOR ROUGH WORK / T% d % fa <rrg

25 T.0.
P-1I/M P
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85. Which one of the following is not a

86.

87.

quality of scientific attitude?

(1) Open-mindedness

(2) Curiosity to learn more

(3) Objectivity in approach to problems
(4)-Hard work

Hari wants to teach the circular motion

to class VI students. Which one of the
following will be the best method?

(1) Discussior*
(2) Activity-based teaching1
(3) Giving examples w

(4) Demonstration L

Which one of the following is an
important aim of learning science?

(1)/To get knowledge of science

(2) To collect the information of
scicnce contents

(3) To imbibe the values of honesty,
* integrity and cooperatign among
learners i 4

(4) To _help the fellow Colleagues in
getting knowledge of science

85.

86.

3

ﬁnf%fﬁaaﬁﬁﬁq-méaﬁzﬁfﬁaﬁvlmm
e 27

(1) gen A

(2) @it diEn H Iegawdn

(3) wwEmaTt % wfi SFaER & FRgFEa
(4) =fs wd

e Fem VI & faarfia .
Ieal ®1 Frefafad # @ #R-@ 598 =
T Srfte

(1) ==i

(2) ifafafé-snamia Reor

(3) SR &

(4) wexH

87. fi=idfEd # 4 FR-w fgm afrm w1

HEEYUl Jexd B7
(1) fosm =1 3 afifa =
(2) fom A frveeg N s i wen

(3) WEHAIS A $HFET,
qEdm F yedl B w

(4) 39 wEqeHl + fogm 1 IR il w=Y
T WEEA I

K iC ) St

SPACE FOR ROUGH WORK / T ¥ % fo7q W

p-11/M 26
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g.

88. The continuous ang comprehensive | 88, figm ¥ qEAHT H W@ T T I H

evaluation in science means— a7 g—
(1) summative and formative (1) Ffe T THATHD T T
< assessment
a1k rradl i T ale
(2) more frequent test and 2
exXamination

(3) T % 3T vg WA TiE s

. a v &
(3) routine activities and exercises to .

assess learning

(4) frgm & |ft wegadl b TR
(4)/cva1uation of all aspects of science

89. fr=fufad § ¥ HH-w wwE-wMuA iy &
89. Which one of the following is not a step T = T 8
of problem-solving approach?
(1) feuf =t e T
(1) Visualizing the situation
: ) (2) TEIH 1 T>E HET
(2) Attempt to solve

(3) T Foramter
(3) Drawing conclusion

4) STEERA
(4) Observation o

: 90. f=fafad # ¥ #F-w fagm # sgeva fly
90. Which one of the following is a step oi: 1 T R A7

analogy strategy in science? -

-

(1) Map similarities (1) Wt 1 R

(2) Presentation of abstraction (2) srpian 1 segeT

(3) Interlinking concepts <~ (3) Sraumonat H TH-gw A S
(4) Iwm

(4) Application

SPACE FOR ROUGH WORK / T% ¥ % Ty wg

07 oo S
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IMPORTANT

Candidates have to do

Question Nos. 31 to 90 Either from Part—lI

(Mathematics and Science) Or fr
(Social Studies/Social Science).

om Part—III

. gheTRiEl # T Ho 31 | 90

M
w1 (@ i fRE) A ST (e,
e [ETIST fgm) A FH T

PART—III / qrr—III
SOCIAL STUDIES/SOCIAL SCIENCE / ameTs axmw/mﬁm ICRIC)

fador ﬁmﬁfﬁaﬁm%m%ﬁ%mm
zrrg?sﬁarqi{ﬁm

Directions : Answer the following questions
by selecting the correct/most appropriate
options. 31.
31. Wind vane is used for measuring—
(1) wind velocity
(2) air pressure
(3) wind direction
(4) air temperature
32. Which one of the following layers of Fhe
atmosphere helps in the transmission
of radio waves? 32.
(1) Stratosphere
(2) Mesosphere
(3) Thermosphere
(4) Exosphere
33. Identify the various layers of the earth
in order from interior to the outermost
layer :
33.
L]
]
L]
.
(1) Crust, mantle, outer core, inner
core
(2) Mantle, crust, outer core, inner
core
(3) Inner core, outer core, crust,
mantle
(4) Inner core, outer core, mantle,
crust
p-1I/M 28

mﬁ!ﬂﬁmmwmﬁ%m&q
ST &7

(1) =g e

(2) 91 T

(3) =g femm

(4) Tg AT9HH

agied 6 Frefafed § ¥ 99 @ i
AT o GO | HeE Ll B 7

(1) THaHHsd

(2) "wHew

(3) =T argHew

(4) sfefew

‘Z@ﬁﬁﬁa‘wﬁﬁmﬁ TR | el

(1) T, e, =medl Fre, stk e
(2) Few, T, AT e, sHate we
(3) Tl s, =TRA W, WA, e
(4) AR wre, wTed we, fizm, qid

35.

3¢
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34. Observe caref i
oS Lk ully the location of the

. and moon in the given
diagram and te] what it depicts gl

O Moon

(0-8

(1) Solar eclipse
(2) Lunar eclipse
(3) Spring tide
(4) Neap tide
35. When the river enters the plain, it

bends and flows forming large bends
known as—

(1) levee
(2) floodplain
(3) meander

(4) oxbow lake

36. Which means of transport is extremely
useful in most inaccessible areas and
in time of calamities for rescuing
people and distributing food, water,
clothes and medicines?

(1) Airways
(2) Railways
(3) Roadways

(4) Waterways

P-II/M

29

34, fu my e # g4, 3o 3T <E R Ry

v e i = f 78 w0 e g

Oz

§
O-6

(1) Td-amem
(2) ==-TEm
(3) FEq -+

(4) Y SER-HC

. & 72 fgE # waY & R, 9 9% g3 W @

IR =2 A TR TEdl ¢, S FHEanl e—
(1) desy

(2) 915 F HEH

(3) fod

(4) =masha

36, i@ gim aEl § 3R el ¥ wwg @l

F TR R WA, W, FIR @ el @)
faaf =0 & o I 1 FR-w T A
Igarf }7

(1) argani
(2) ‘emml

(3) wewhATl

(4) Sommi

| P.T.O.
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ich deals
37. The branch of geography zglal]‘_: e
with composition of a partic
population is called—
(1) urban geography
(2) biogeography
(3) demography

(4) human geography

38. Assertion (A) : o
The sun sets in Gujarat albou:1
hours after Arunachal Pradesh.

Reason (R) : .
Arunachal Pradesh is on a higher
latitude than Gujarat.

Select the correct option from the given
alternatives.

(1) Both (A) and (R) are true, and (R)
explains (A)

(2) Both (A) and (R) are true, but (R)
does not explain (A)

(3) (A) is true and (R) is false
(4) (A) is false and (R) is true
39. Which one of the following is a non-
conventional source of energy?
(1) Firewood
(2) Natural gas
(3) Solar energy
(4) Coal
40. The breeding of fish

constructed tanks
known as—

in  specially
and ponds is

(1) sericulture
(2) viticulture

(3) horticulture

(4) pisciculture

P-1I/M "

38.

. -
% a8 wr@l, s faRE gy

37 g%ﬁw@ﬁuﬂiwﬁ%ﬁ
41. A
(1) i e e
(2) ¥ T n
(3) SEITET 3
(4) WA T =
iR (A) : "
i T H SRS Yo § T
H1E 37 Bl 2 kL

39.

40.

42. Wi
R (R) : is

m’g “ﬁmﬁ:{aqm (1)

T & B

(2)
fog g ferehedt @ W foehew 1 w3 iy 5
(1) (A) 3"h'( (R) ﬁ qg %, aﬂ{ (R) [A)ﬂ‘ .
TIE AT & (4!
(2) (&) 3 (R) 3 &= &, Af (R) ()3 v
TE TE Al B ] sz
(3) (A) ¥ 2 3R (R) 379 § i
(4) (A) 38 8 3N (R) 94 3
Aefifan & 4 FR-m w9 @ s i
o 87
3
(1) $em (
(2) Wi g 4
(3) ©R ==
a 44, Ir
- W
fody = & Aiffe 29t oik araet & wodt @
S FHEedlal g— (
(1) e ¢
(2) fafesesy :
(3) Eifaeat [
(4) e
P-11/
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41. A narrow stri

42.

43.

44.

P of land joining two

landmasses is known as—

(1) strait

(2) isthmus

(3) island

(4) bay

Which one of the following continents
is smallest in size?

(1) Australia

(2) South America

(3) Africa

(4) Europe

At the upper primary stage, Social
Science comprises of—

History, Geography, Political

Science, Psychology

(1)

History, Geography, Economics,

Sociology

(2)

History, Geography, Political

Science, Economics

(3)

History, Geography, Political

(4) :
Science, Sociology

Inductive learning is contradictory to
which one of the following approaches?

(1) Expository teaching
(2) Structure training

(3) Simulation

(4) Mastery learning
31

41.

42,

43.

44,

< T GHT A, S A TS T )
W_@ﬁ:ﬁgﬂ%,ﬁﬂﬁﬁ%?

(1) Sed
(2) Tl

(4) T

a1 Tuf wR @ AT fage A i g—
(1) sfem, i, -, T

(2) 3foera, sy, RefwTE, FRRTE

(3) 3foem, i, TeAfa-fagm, sl

(4) 3Rem, i, TeET-fae, T

AT ity Fr=ifeifaa § @ fra faw =
Tt 37

(1) e R
(2) ST S
@) Ewm

(4) Fgemers arftem

[ P.T.O.
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n statements A and B and

45. Read the give r answer :

select the correc
A. Critical thinking Pr°
building of conce_pts,
and expansion of ideas. |
It does not help in understandmg
and evaluating arguments an
beliefs of others.

A is true and B is false

A is false and B is true

Both A and B are false

Both A and B are true

motes the
application

(1)
(2)
(3)
(4)

46. What is an empirical evidence?
(1) Data gathered in the real world
through the senses
(2) A numeric approach for research

(3) Data measured in metric units

(4) Data gathered using reliable

methods of data collection

47. The models/replicas of physical
features are most suitable for
teaching—

(1) History

(2) Economics
(3) Geography
(4) Political Science
48. The collection of weather information

from the local newspaper is an example
of which type of source?

(1) Primary
(2) Secondary
(3) Tertiary
(4) Both primary and tertiary
49. In which type of classroom, the

students with learning disabilities
learn alongside other students?

(1) Exclusive
(2) Special
(3) Inclusive
(4) Modern

P-II/M
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45. ﬁqmﬁuﬁAaﬂIBaﬁqﬁ‘Iaﬁ{mmh

=94 :
o W U & iy

. ST
e % o s R R iy
z

3 fawamEi =
> %ﬁ;ﬁﬁ;ﬁm#ﬁml .
(1) A¥@? iR B IEA T
(2) A ¥ 3t B ¥ @
(3) A 3R B Ml 3 &
(4) A it B 3H ¥4 &

46, TS TS F1 87
(1) 3B & mem F At 5§ iy
afehe

(2) Y % fe T HEATHS giEw
(3) A gigal § W T HiwS
(4) Hel F T F favaea aiF w1 wn
FLTHA Al
47. ffis fomwme & wied/fapfodl
firgm & foe el sl IuI &
(1) sfoera
(2) sdwmE
(3) =
(4) T -famm
48, WM TER-9F | Haw 6 JHER F Wk
F TR &1 Hia 87
(1) wufies
(2) fada=s
(3) Tl
(4) Wl ol g <At
49, HiE 6t starar g e fFa wR 6t wan
# o ot % a1y diad §7
(1) =73
(2) T
(3) wwmEEf
(4) sy
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50. Who hag given the following theory?

Sizlluechﬂdren 80 through the same
dif? nce of development, but at
: erent rates. Therefore teacher must
plan activities for individual children

and small groups, not j
as a whole » PS, not just for the class

(1) C. L. Ogden
(2) D. Purcell
(3) J. H. Bell
(4) J. Piaget

51. In order to promote cooperative

learning in the classroom, a teacher
should—

(1)

engage students in debate and
discussions

()
(3)

give them individual projects

divide the class in small groups for
work

(4)

provide them various sources to do
the project

52. A self-guided, self-disciplined thinking

which attempts to reason at the
highest level of quality in a fair-minded
way is called—

(1) critical thinking

(2) complex thinking

(3) intelligent thinking

(4) abstract thinking

The colours used in the Ajanta Caves

Paintings have been derived from
which of the following materials?

53.

(1) Remains of animal organs

(2) Graphite

(3) Plants and minerals

(4) Slate

P-1I/M
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50. Frfifaa frgia e fan =7

“oft T REE ¥ GIH T Y TR §
AfeT Riftm @ &)1 el e 9 9 g
Fa ¥ fog ¢ afes =@ o= ok wR
@%%@Wﬁfﬁfﬂﬁﬁmm?@m”

(1) o Teo IHRSA
(2) So
(3) Sto T A
(4) Jo fram
51. F&1 #§ weR R F FgE1 J F o w
frersh =1 =TleT—
(1) Bl =g@ AR ==is § @y
(2) 3% =RETa TREreET 3
(3) :ﬁm%mmmﬁﬁ%v@ﬁﬁmﬁa

(4) sfEsET H =R * fau 3R fafm @
TeH

52. Th eA-FERE, AT-Fgmia a9
3 7% |/ e F I=HA T W
1 T T Y, I FE a—

(1) TeATS 9=
(2) vifew |

(3) fewm €

(4) ompd W

SR
qH HA

53. 3 T fisit # semme fvg o o1 Preflaa
A o mh A ww g o 7

(1) 9 i % a9y
(2) e

(3) i 3R @l
(4) =R

[ P.T.O.
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54,

S5.

56.

57.

58.

pP-11/M

The earliest manuscripts were Written
on—

(1) palm leaves
(2) stones
(3) paper
(4) wood

Which one of the follow_ing periods is
longest in the human history?

(1) Palacolithic

(2) Mesolithic

(3) Neolithic

(4) Megalithic

Read the given statements A and B and
select the correct answer :

A. Mehrgarh is located in a fertile
plain near Bolan Pass of Pakistan.

B. Evidences of farming and herding
are found here.

(1) A is true and B is false
(2) A is false and B is true
(3) Both A and B are false

(4) Both A and B are true

In which one of the following States of

India, the largest number of Harappan
sites have been found?

(1) Punjab

(2) Haryana

(3) Gujarat

(4) Jammu and Kashmir

which one of the Tty foposed in
(1) Brahmi

(2) Pali

(3) Sanskrit

(4) Prakrit

34

54.

S5.

56.

57.

e g vighift e ferd 7 off

(1) a8 oA

(2) Feerdi

(3) wr

(4) s

we iR § frefafe § @ SR-dt iy
(1) oy islt 27 -

(1) gUHm™ETT Hret

(2) WA Fr

(3) adTHIOl HTed

(4) FETITITOT HIA

T T FoAl A IR B =l ufen v 98 I &
W%Q:

A. UEUR UREH % WM € % UM @
IS HeM § f8m R

B. @ @dl 3R qyETeH % ieg qIY S £
(1) A¥E R IR B IWH R

(2) A ¥HA ? 3R B 9 §

(3) A 3ir B SH! e@e §

(4) A 3R B 3 @ §

| & Frefafea o=l § A g ot
TS & TR T8 o wear # il §7

(1) T

(2) wfamm

(3) T

(4) <=1 3R Fyedf

R W W A Freffas § § feg o
T g oft?

(1) wmedt

(2) wreh

(3) W '

(4) wrFa
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59. The

first
M : rule
Béhajanapadas inrth of. Magadha
Was— € sixth century
(1) Mahayirg

(2) Pl'a.senjit

(3) Bimbisara

(4) Ajatashatry

60. Which one of the following is not

among the three jewels of Buddhism?

(1) Buddha
(2) Dhamma
(3) Ahimsa
(4) Sangha
61. Who among the following elects the
Rajya Sabha Members?
(1) Voters in Assembly Constituencies

(2) Voters in Parliamentary Constitu-
encies

(3) Lok Sabha Members
(4) Members of Legislative Assemblies
(MLAS)
62. Which of the following systems of
government was adopted by India?
(1) Parliamentary and Unitary

(2) Presidential and Federal

(3) Presidential and Unitary

(4) Parliamentary and Federal

. PI/M 5

59. ot yaed) @ g H WY HENHAR % uEq

60I

61.

62.

TTH d— '
(1) wer

(2) W

(3) fafRram

(4) SFTIARTg

T # & #-w dg-ud % Bt 8§ A
T R |

(1) =

(2) ==

(3) feen

(4) 5

Pt & & a9 w~own wewdt w1 T
el g7

(1) Fumen fafer-get % wem

(2) wudr Frateq-aet & aaem

(3) wFET Hew

(4) faummm % wem (Ruws)

I g1 iR # A feg wmeq worel
YT =T o7

(1) W& iR T
(2) gt 3R e
(3) Tgufd 3R g
(4) EwdE v wefy

w| 'B.T.O\
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63. s sl % forg e wwe Fafe.y

63. How many Parliamentary Constitu- .

encies areyreserved for the Scheduled A &7

Castes? (1) 48

(1) 48 (2) 84

2 84 (3) 47

) 47 (4) 74

(4) 74

64. WA ¥ YTl FA F HRO AT J 3

64. Which one of the following Funda- o Hifere tfrerR 1 Igem fopan Sran 87

mental Rights is violated due to

practice of untouchability in India? (1) F9HaT F1 AR

(1) Right to Equality (2) Ol H1 HAHER

(2) Right to Freedom (3) e % faeg iR

(3) Right against Exploitation @ TR 3= 1 SRR

(4) Right to Constitutional Remedies
65. WA & WHYM % IER, fefafad § 3

65. As per the Constitution of India, which HH-91 Hifets fHR 7 87
one of the following is mot a Funda-
mental Right? (1) foem =1 ftR
(1) Right to Education (2) wm % faeg AR
(2) Right against Exploitation (3) ud i € F ARHER
(3) Right to Freedom of Religion (4) Hufst = SR

(4) Right to Property
66. WAl _____ & IMUR | HewE & gehfe

66. Untouchability refers to the wdl B
discrimination on the basis of—

(1) physical disability 11} TFIR emetric
(2) gender (2) fem
(3) caste (3) i
(4) race (4) =
67. Who appoints the Chief Minister? 67. Tl 1 1 Frges e 27
(1) The President (1) Tmegfa
(2) The Prime Minister (2) wgmwEsh
(3) The Governor (3) TS
(4) The Chief Justice of the High Court (4) 3= AR ¥ geg =iy
P-II/M 36
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68.

69.

70.

71.

72.

. P-II/M

Who appoints the Governor?
(1) The Prime Minister
(2) The Chjef Minister

(3) The Chief Justice of India
(4) The President

Who elects the Prime Minister?

(1) The Council of Ministers

(2) The Chief Ministers

(3) MPs

(4) MPs and MLAs

Who among the following is called the
first citizen of India?

(1) The Chief Justice of India

(2) The Home Minister

(3) The President

(4) The Prime Minister

Who among the following is called the
first citizen of a State in India?

(1) The Chief Justice of the High Court
(2) The Home Minister

(3) The Governor

(4) The Chief Minister

The current Lok Sabha (from 2014
onwards) is the—

(1) 13th

(2) 14th

(3) 15th

(4) 16th
37

68.

69.

70.

71.

72.

T9Te 1 H g e 87
(1) worws

(2) e

(3) WRd % g&a =y
(4) gafa

U 1 AE A Hl 87

(1) =@ i afeg

(2) gews

(3) @R

(4) |mER 3R s

Frefafea # & fega wra =1 vgen Tie 5a
T &7

(1) ¥R % =g =i

(2) Teh

(3) g

(4) waTH

el § 3 ) wra & oo @ v
AR et S 27

(1) 3= mem % geg =y

(2) T

(3) TS

(4) gemeh

(2) 144t
(3) 154
(4) 164
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73. Who is the current President of India? 73. VT T A TEANT HH &

(1) Narendra Modi (1) =% At

(2) Pratibha Patil (2) Wi e
(8) M. Venkaiah Naidu (3) THo Tk TG,
(4) Ram Nath Kovind (4) TEY FEE

74. Which of the following is mnot )
mentioned in the Constitution of India? 74. E‘ﬁiﬁﬁf@?ﬁ frefefaa # & fore Sg@

(1) Names of the States and Union

(1) T=Al ofR Hg-IMiHa Wi = AW

Territories
(2) Structure of the Government (2) GRR 1 gl
(3) Names of political parties (3) TeHfe el % ™
(4) Rights of the citizens (4) TR 3 SR
75. Who nominates Members to the Rajya 75. TsTENT & GEEl Bl R AW H R?
Sabha? )
(1) The President (1) Tgafa
(2) The Vice President (2) Swargafa
(3) The Prime Minister (3) Ty
(4) The Chief Justice of the Supreme (4) T IETEE % & =R
Court
\ 76. f=fafaa & & 99 Y f @Rum a1 =
76. Who among the following was the e o7
President of the Constituent Assembly )
of Indigy (1) o TeTITATET
(1) C. Rajagopalachari (2) To Ho Ao 2
(2) Dr. B. R. Ambedkar .
‘ (3) slo s THR
(3) Dr. Rajendra Prasad
(4) SRR T

(4) Jawaharlal Nehru
77. FfiEd § ¥ W9 e w1 wEE A

77" Indien Goveror Generay o niier | TR
(1) Dr. Sarvepalli Radhakrishnan (1) Sfo Heug MTHwH
(2) B. Pattabhi Sitaramayya (2) <fto zIfSy Hrawmzn
(3) T. T. Krishnamachari (3) Ao Ao Fomrr
(4) C. Rajagopalachari (4) o TemiITETA
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| 178. When wag

the -
adopted? Constitution of India 78. VNG w1 GAYA F FE T 417

(1) August 15, 194~ (1) 15 31, 1947

(2) November 26, 1947

(2) 26 T@T, 1947

(3) November 26, 1949 @) 26 FH, 1949

(4) January 26, 1950 (4) 26 s==d, 1950

79. Who among the followi
e : n 1
decisive role in integrating %héj Sr?;icécl?r 79. fr=fafaa # @ foraa wa <) el #i i
States of India? w8 Foriaes fies fng oft?

(1) Jawaharlal Nehru (1) ETEETE FE&

(2) Sardar Vallabhbhai Patel (2) TR TGTE A

3) Dr. B. R. Ambedk -
) sear (3) B0 sfto Mo =T

(4) C. Rajagopalachari
' (4) dto TSFIYTEET

80. Which of the following deal with the ‘
matters in the Concurrent List of the | 80. fi=fafaa # @ ¥ e ¥ “fyum & wuad

Constitution of India? T ¥ W & w1 e 27
(1) Union Government and State
Governments (1) 2 T I T TR
(2) State Governments and Local (2) T4 WK 3R W '@

Government Bodies

(3) FE-MiHE W

(3) Union Territories

(4) g W Fem

(4) Local Government Bodies

" 81, Who among the following was the 81. mﬁ%"@ mé}‘:ﬂa 1 dfam ww §
- Chairman of the Drafting Comrnit.tee in Ay A7
the Constituent Assembly of India?

(1) o TsATET=TY

(1) C. Rajagopalachari

(2) 370 'iﬁo HRo m
(2) Dr. B. R. Ambedkar

3) Sio
(3) Dr. Rajendra Prasad (3) =lo Tz WE
(4) Jawaharlal Nehru (4) SRR JEw
P‘II/M 39 e
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82. In the 18th century, under whom did | 82. 18 w2 & frad Aga H W HR-oR T

Bengal gradually break away from the Foror @ ater § 7
Mughal control?

1 alﬁia RCIC|
(1) Murshid Quli Khan (1) ?ﬁ
2) Tfetae
(2) Nadir Shah 2
(3) Alivardi Khan (3) Feftaat @M
(4) Burhan-ul-Mulk (4) IEH-IA-Joh
83. Who among the following Governor- | 83. fmfuflad # & fFm meft-sa 3 %uen fag
Generals decided that Bahadur Shah & wegue Sw enRal g wEE B ady
Zafar would be _the last Mughal T 1Y ¥ A frd) oft 999 | TEE F wy
emperor and after his death none of the 3 e :
descendents would be recognized as a Al
ruler? -
(1) 7€ S
(1) Lord Dalhousie
(2) fafem dfes
(2) William Bentinck .
(3) @S HFm
(3) Lord Canning
(4) @7 Hiatc™

(4) Lord Cornwallis
84. T8 TaR-ve 3 Wit foFn & ey @ orem

e et ) | o e o e
British rule was needed to ensure G F % o fafewn v A s
proper administration? ofi?

(1) Lord Ripon (1) =i =
(2) Lord Canning (2) @i A
(3) Lord Dalhousie (3) &S SRSt
(4) Lord Mountbatten (4) @S AR

85. }g:si}c;}‘:’ar’;ler of Kanpur called himself 85. W*ﬁﬁﬂ s 3 @ 2 YyEr’ 717
(1) Nana Saheb (1) T ETRE
(2) Bajirao I (2) "=RE wom
(3) Bajirao II (3) I~RE Ry
(4) Bahadur Shah Zafar (4) TRIZWIE W
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86. The best 3qrh
theme ‘Facgl:yu»md"lc'gy to teach the | 86. ‘Fwal ¥ fiw # Ter ¥ fig TR

Wwould pe__

(1) tO narrate a sto ﬁmg}tﬂ—
() to invite Y (1) T werft gm
reSOurce Person (2) ﬁ;{ﬁ i N n—
¥ to organize & Visit to ap j ial EaCIE )
plant it @) Frh sheifre e s
4) to Eac|
* Screen g documentary film (4) ueh Slapiedt fen fam
87. What is ED
sae 87. tglz (EDUSAT) @ w1 31fima &7
" Satlinesct that caries man-made (1) Pz v e - el A
0 be p] ; \
around the sunp aced in the orbit £ wen 7 v e % forg foman wman @
i I a1 U8
(@) A newly discovereq planet in the (2) WrReea ¥ @il T T
solar system (3) T EETR S T o geEA B Fea %
(3) An asteroid foung between the o qran S #

orbits of Mars and Jupiter

(4) w wrE-fAfia s same
88, ‘Tearll’ 3 ‘Hive #§ Fefafas 3 @ fFw

(4) A man-made Indian satellite

5 el = wfém R
88. The verses and ideas of which one of wH TR F B3 N EARIEE

the folloWi.ng personalities havg‘ been - TmR?

preserved in ‘Panchvani’ and Bijak’? "

(1) Mirabai (2) m'““a‘ﬁ

(2) Kabir =

(3) Guru Nanak - d

Ravid

9 s sg.mﬁwmﬁﬁf-ﬁa,mﬁﬁ%g%qﬁs
~ 89, The mural painting from Ellora Caves it gev-fie 3 v fam R,
. : which shows Vishnu as Nm:asimha'., él;e £ 27

man-lion, is a work of which perio 0 a:,i-(_ -

(1) Gurjara-Pratihara period i Slmiilslt

(2) Rashtrakuta period - xR o

(3) Chalukya period ” gﬂgm

- |
) Gupe P . 90. ﬂnﬁ«gﬁa A A FH-W1 WA g F e
following organiza- w7
ich one of the ¢

90. E’;‘]‘: believes in Upanishads? -

(1) Brahma Samaj @ e

(2) Ramakrishna Mission ) "o

(3) Satyashodhak Sama | (4) B

4) Seva Sama) |

? 41 [ PT.0.
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PART—IV
Language—I
ENGLISH

IMPORTANT : Candidates should attempt questions from Part—IV (Q. Nos,
91 to 120), if they have opted for ENGLISH as Language—I only.

Directions : Rcad the passage carefully
and answer the questions that follow
(Q. Nos. 91 to 99) by selecting the

correct/most appropriate options.

Born out of the forces of globalization, India’s
IT scctor is undertaking some globalization
of its own. In scarch of new sources of rapid
growth, the country’s outsourcing giants are
aggressively expanding beyond their usual
stomping grounds into the developing world;
setting up programming centres, chasing new
clients and hiring local talent. Through
geographic diversification, Indian companies
hope to regain some momentum after the
recession. This shift is being driven by a
global cconomy in which the US is no longer
the undisputed engine of growth. India’s
IT powers rose to prominence largely on the
decisions made by American executives, who
were quick to capitalize on the cost savings to
be gained by outsourcing noncore operations,
such as systems programming and call
centres, to specialists overseas.

Revenues in India’s IT sector surged from $4
billion in 1998 to $59 billion last fiscal, but
with the recession NASSCOM forecasts that
the growth rate of India’s exports of IT and
other business services to the US and Europe
will drop to at most 7% in the current fiscal

year, down from 16% last year and 29% in.

2007-08.

Factors other than the crisis are driving
India’s IT firms into the emerging
world. Although the US still accounts for 60%
of the export revenue of India’s IT sector,
emerging markets are growing faster.
Tapping these more dynamic economies

won'’t be easy, however. The goal of Indian 1y
firms for the past 30 years has been to Wog
clients outside India and transfer as much
of the actual work as possible back home
where lower wages for highly skillec;
programmers  allowed them to  offe
significant cost savings. With costs in othe
emerging economies equally low, Indian firmg
can’t compete on price alone.

To adapt, Indian companies which are
relatively unknown in these emerging nationg
are establishing major local operations
around the world, in the process hiring
thousands of locals. Cultural conflicts arise
at times while training new recruits,
In addition, IT firms also have to work extra
hard to woo business from emerging-market
companies still unaccustomed to the concept
of outsourcing. If successful, the future of
India’s outsourcing sector could prove as
bright as its past.

91. What is the author trying to convey
through the phrase “India’s IT sector
is undertaking some globalization of
its own”?

(1) India has usurped America’s
position as the leader in IT.

(2) The Indian IT sector is competing
with other emerging nations for
American business.

(3) The Indian IT sector IS
considering  outsourcing | 10
developing economies.

(#) Indian IT firms are engaging
in expanding their presenct
internationally.

P-11/M 42
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follow; -
e Services Wing factors made 95 i :
attractiye to offereq by the Indian IT s Jodinek e el

the Us? ‘ of the following is not a difficulty that
A. Indian - Indian IT firms will face in emerging
eXPpertise | companies had markets? ;
B m € In rare core operations (1) Mindset resistant to outsourcing
o ihe US 1ack (2) Local IT services are equall
Infrastructure C:ndthe L R cost-effective ey
handle mags  aagoo oo 10 (3) The US is their preferred
Operations centre outsourcing destination
C. Inabil (4) Conflicts arising during the
COSt—-eli':'):cie of other  equally training of local talent
to comply with eocF 8 COUNLHIES | g6 wpich of the following i
y with their strict policies + Whic o e following is/are not true
_#1) None in the context of the passage?
A. The recession severely impacted
(2) Only A the US but not India.
3) Onl B. India is trying to depend less on
©) nly A and B the US as a source of growth.
(4) Only C C. The future success -of Indian IT
firms depends on emerging
kets.
93. What has caused Indian IT firms to e
ch (¥ Only B and C
ange the way they conduct 5 Only A
business in developing countries? (2) Only A:
; (3) Only B
(1) The volume of work being (4) AllA, Band C
awarded cannot be handled by :
Indian firms 97. Which one of the following words is
most similar in meaning to the word
f2) The demands of these markets ‘chasing’ as used in the passage?

are different from those of India’s

2 (1) Running~
traditional customers

(2) Harassing
(3) Wages demanded by local (3) Pestering
workers are far higher, than what (4) Pursuing

i 2 1
they pay their Indian employecs 98. Which one of the following words is

(4) Stringent laws which are not most opposite to the meaning of the
conducive to outsourcing word wundisputed’ as used in the
passage? )
(1) Challenging ~

94. What do the NASSCOM statistics

about Indian IT exports indicate? (2) Doubtful
. (3) Deprived
() Drop in demand for IT services by (4) Emphasized

urop 99, Other than crisis, what is driving IT

(2) Indian IT ﬁn.ns .charge companies to seek other options?
exorbitantly for their services 1) The US meles inore than 60% of
(3) India has lost out to other lndta’s. export revenue
emerging IT hubs (g} ﬁmergu;gth markets
(4) The Indian IT sector should :4; BZ?; a) a:da;\re
undergo restructuring
43 [ PT.0.

p-1I/M

e N PN St a— S

Scanned by CamScanner



Dir ections : Read the extract given

below and answer the questions that

follow (Q. Nos. 100 to 105) by selecting
€ correct/most appropriate options.

Break, Break, Break,
On thy cold gray stones, O Sea!
And I would that my tongue could utter
The thoughts that arise in me.

O, well for the fisherman's boy,
That he shouts with his sister at play!
O, well for the sailor lad,

That he sings in his boat on the bay !

And the stately ships go on
To their haven under‘the hill;

But O for the touch of a vanish’d hand,
And the sound of a voice that is stilll

-

Break, Break, Break,
At the foot of thy crags, O Seal
But the tender grace of a ciay that is dead

Will never come back to me.

100. What is ‘breaking’ in ‘Break, Break,
Break’?

(1} The sea

(2) Poet’s heart

(3) The wind

(4) The sunshine through the clouds

101. The mood of the speaker in ‘Break,

Break, Break’ is—

(1) , contemplative and hopeful
(2) lighthearted

(3) somber and grieved

(4) energized

p-1I/M 44

102. The speaker in ‘Break, Break, Breaj
observes all the following, except—_

(1) children playing
(2) a sailor boy singing
3) a lady in a tower

}) y
(4) ships coming in

103. The speaker of ‘Break, Break, Break'

cannot— :
(1) feel
(2) see
(3)/_ speak

(4) hear

104. In the first two lines of the poem, the

poet uses—
(1) simile
(2) apostrophe ‘
(3) assonance
(4) metaphor/
105. The phrase ‘haven under the hill’ is an

example of—

- (1) simile
(2) metaphor
(3) alliteration

(4) personification ~
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Directions Answer
(Q. Nos. 10¢ to
correct/most appr

the following questions

120) by selecting the
opriate options,

106. lmzhugr:i;o& the following does not
and gradation?e Principle of selection
(1) Accuracy
(2) Availability

(3) Coverage”

(4) Frequency

107. The phenomenon, where a single word

Is associated with two or several
related meanings, is known as—

(1)
(2)
(3)
(4)

homonyms,
homograph
polysemy

homonymy

108. “The dog lived in the garden, but the

cat, who was smarter, lived inside the
house” is an example of—

(1)

(2) complex compound sentence_

simple sentence

(3) complex sentence

(4) compound sentence

If a student of language is cramming
his/her answers, then he/she would

not be able to—
(1)
(2)
(3)
(4)

P-II/M

1069.

attempt question answers
attempt vocabulary-based exercise
attempt structural questions,

attempt creative writing/

110.

111,

112,

113.

45

During reading, if a student is
piercing information together as the.y
read a text keeping track of what is
happening, he/she is—

(1) inferring

(2) skimming <~
(3) paraphrasing
(4) synthesizing

Which one of the following does not
affect the intonation?

(1) Voice/Pronunciation

(2) Tone_.

(3) Rhythm

(4) Loudness

_____ are involved in thinking.

(1) Image, language, imagination,
proposition

(2) Image, imagination, concept,

" proposition

(3) /Imagination, language, concept,
proposition

(4) Image, language, concept,
proposition

Language laboratory is the place
where the learners have to listen on
hcadp.nhone. The'language labs are set
up‘vfn-th a view to provide listening
activities in order to develop—
(1) analysis habit
(2) speech habit

P
(3) criticizing habit

(4) listening activities

| PT.O.
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114,

115.

116.

(4)

Grammar-translation =~ method - is
basically used to teach—

(1)
(2)
(3)
(4)

grammar
foreign language
rules of any language usage~

classical language

Which one of the following can be
used as a rubric for the assessment of
fluency and coherence of language?

(1) »Can express with some flexibility
and appropnacy on variety of
topics

Can initiate and logically develop
simple conversation on a familiar
topic

(2)

Is always comprehensible, uses
appropriate intonation

3)

Demonstrates hesitation to find
words or use correct grammatical
structures

(4)

Which one of the following is not the
objective defined by NCF-2005 for

‘teaching Enghsh at upper primary

level?

(1) To negotiate their own learning
» goals and evaluate their own

progress; edit, rev1se, re\new their
own work"

(2)

To use dictionary suitable to their
needs

To be able to
individual/personal
effectively

(3)

articulate
responses

To promote learners’ concep-
tualization of printed texts in
terms of heading, paragraph and
horizontal lines

P-1I/M

117.

118.

119.

120.

46

If you are listening to the descnptmn
of how to reach a specific locatmn
then you are doing—

casual listening

(1)
(2) focused listening~

intensive listening.-

(3)
(4)

extensive listening

If a language teacher has put the
words ‘school, teacher, headmaster,
peon’ in a group, then she i
following—

(1)

lexical grouping ,

(2) semantic grouping
(3) phonetic grouping
(4) grammatical grouping

“At the initial stages of language
learning, may be one of the
languages for learning activities that
create the child’s awareness to the
world.” (NCF-2005)

(1)
2)
2
(4)

Erllglish

Vernacular language
Second language
Hindi

Little or no attention is given t©
pronunciation in method.

(1)
(2)
(3)
(4)

audio-lingual
grammar-translation <
CLT

SLT

Scanned by CamScanner




WT—1v

HTYT—]
\ =7
W'qﬁmﬁﬁm__ :
%mﬁ?ﬁmgﬁ, TV (5 o 91&120)%M%m%ﬁaaﬁ%uﬁzﬂﬁm—lm
_—_—h\\
&w Eic fau

T TN g @ m we

(‘TFI Ho 91 %98)%
fiber = gy /TR Jugw 3w A

WA 15 371, 1947 # ams
m@@ﬁmﬁ@mwﬁgﬁﬁﬁ
RAAREUER GRS S T T ey
T e F S Y v v R A e,
A 7o Frof sl 3§ feeerd % R @ 3R 9
AR e % aea @ e TR ¥ i
WA A1 3 T F g it @ o A A
IR A F Tt B e F A @
A FAT ST 1| e S Y 7 R we
STell | At e fafew aan 4 e w0 o
AR et wf G A w1885 # A wrdlg W
HE A =i it for faufie § faffe wew a3 =i
IR IT T W W= FA W T g FOARER
firemn =ifew) 1909 # = 7 i femr W2 A 5o
7g de faffya wiafite f sgewen @@t a3 @)
gites fafew @@r & Sfafd =98 7§ T yEem
et TgaTfal % @gd o1 @ e % HRO @
off, Sifr 378 +ff Tt TF@R A T @ T TR W
arfrr feam T wn @R A & em wm folg wfsen #

fewar & @a A1

91. wim f Rt ¥ M A s F ol
wmfAe gev
(1) W
(2) wHEdl
(3) Fra st & ezt
(4) I @

P-II/M
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92, arwet & oy dud fored s ema?

93.

94.

(1) et T Sog 3

(2) 39 I SHaT A

(3) forfew @@ 3

(4) we=t A

frfafes & & deaite <@wn w1 =
HH-7T 87

(1) Huma

(2) &=

(3) Te=mt i sivreafw

(4) S Wit

AR T FT ITET TSN7

(1) forfew wmas =& M

(2) TEHR H G HTer=AT B ol
(3) =T =t federlY firer é

(4) WA wnfa 2

[ P.T.O.
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9S. =iltw & F wi o7
(1) wreta gEer fy =
(2) ffm % 3 gu e @
(3) ST Wi DSt

(4) ITTE [

96. =R wiw/ads a gHT|
(1) S 738 ) gherdn e 2
(2) gud agT = I R
(3) Hed HsA Y W R |

(4) o wgeg R a2

97. ‘Gom’ Yea F1 God g TET 3 —
(1) QAW TR o @ q|
(2) Qoo™ s & @ A
(3) Gelem gusAl 8 W@ off|

(4) QAN T T W of |

98. ‘T@E’ Y& F WA Fel W@ By

(1) =@ ____ fiwen ma
(2) TH__ 98 T
(3) sfizwg ____ @

(4) Wt gwm ____d
P-1I/M

fdm ;AW @ o R TR W om o
(¥ Ho 99 # 105)%w/m3ﬂgﬁm3@
faeren =1 ghw)
| & T & FgH S TR WX H 91 <t
TE AT YR FAFR it gg ot
€ Y& TS FH BT 91§ &
71 38 iy
RIRCE
& % 6 e |
e A9t [ Tyermar e @ e w e d
A 54 AR A S aFt F e &
@l g BraT ?
1 379 TOW Y AR
=l ST 8 STEHRAT 3T T 3eg i
A9 SR & T ) g w R
S AT B GEd T S 90 Qg aEe
R 3 9= fEemar B SEeh s
v« =g AR o1
AHASE | W 94 oIl & SHh! Tell
S |y Bigdt g8 IeAT 3T Bl gal
HE | T 1 o Fren gon
Tt g7 T A Blgw STl
g A Tl AT ¢ WIAHR @
Hft-wft 98 1 § 2 Tar } SE wy
TR qaM & T ff a7 erhen 7€ @
3 7 & R A e s wwan @
T ST T T
3R Il AT N G T we g A ¢
7 39 T I =1 7 IBM A | AW R
I foqwerar 7€

IR AT THT T =06

99, WA ¥ Wieaqn A Sy fhg yHR & =Arw @
3TN kel T 9TR @I 27

(1) s=amh
(2) @&
(3) v
(4) sl

48
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100.

101.

102.

103.

104.

105.

T A ) wRw A % s § )
(1) W= wmm &

(2) < = v @

(3) T & e B

(4) SerTH R ST
‘aeR’ W A—

(1) & swat &

2) T wewm R

(3) ‘3 v ¥

4) ® w3 R

‘T S Fo fiwar gan’ w1 e 31—
(1) F=Aem g3 &= '
(2) ST

(3) Je@ =N

(4) wadid T

‘GTaER F 34—

(1) @ 1 HS I]BW T

(2) T % WA TG Al

(3) 7T % WY A ATl

(4) T e A FEE A

‘tag Jurn’ w1 a1 R—
(1) &g &

(2) wmftalE <

(3) o &

(4) &g ST

P-1I/M

3w : Y fo T S (5 Wo 106 § 120) F
TR /TR e I A e B gl

106. e dray  fare amavas @ fF—
(1) e a9 G 1 A 8
(2) T A G- F

(3) wem wm A Pyl iR A9 wmh
gr-7g @ frd

(4) = fier @ wfis Fan A @M ST
107.whaéfumﬁﬁwmmﬁ?ﬁa%m
A__ w A Rl '

(_1) foram
(2) v
(3) ==

(4) g™

108. ‘‘TEH SR M B —IR HYA—
(1) W1 Y S=41 1 g8 R TG I =1eT A @

B

(3) W1 i SiET H g R T A Awen w

(4)wﬁamﬁq@gq@®m
Coci

18 [ P.T.O.
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109, s % g # -1 HUd I T 87 112. w1 aft forat & 7RI

(1) war & e g ST ¢ 1) "
2) mﬁﬁﬁwmammw%l (2) st
(3) %
3) ﬁmﬁﬂamﬁmmﬁl
(4) WR®

(4) Erh § U A S 8

113. ‘Ffa w1 w ffim o a2, B wf
franfifat = wem wifte’—s@ Fw F W §

‘ 110. TS WINT ¥ AGE H = A—
9 g & fF—

(1) v Rrgidi & v fefd @ | 9@

1 =fee (1) et Ffm A = Tfim o F @y w

=1z
(2)‘::2:%““@“%*@ @) wh femf sy s i o # 4
et g &
(3) faferg st & wrwi-wivTt Y e ol (3) FR ¥ Fh@ w o # R AR w
A I 3 <Y Fremeff 2 T =R
(4) & wTI-3EnT i el e 0w aw (4) - Y gEed ¥ wgd f vk
a wifRg e gt ]

111. &5 W et ot TR § Ryt o wwd | 114 39 A R BR orem-arem e o wmnf v &

¥ —39 U W e T fe— e e A—
(1) 7% g dvg T (1) vt &t fafqy det & wam =@ & @
TR
(2) 9% g &< 9% §va } A
(2) =AEwTT-wErg v diE 3 e @
(3) T R S AR e & A

() fomamit 3 aR & T Frerh 2

4 Waﬂt%ﬁ%ﬁaqﬁmmt
p-II/M | 50

(4) SEHl & A & e frerd
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115 T Rt et o a1
(1) o 6 vy ) gy
(2) T R = weod ¥ s
(3) e % s g srgrn

(4) P 35 ik 3 o st 3

116. IET-ETA F JHeH F Ru—
(1) arfﬁa:aﬁaﬁiﬁmm
(2) SATEHOI-THHT M I IGAT TN

(3) el It 3k Feudl +t @ &

(4) framae H awd i gea H Fr A

%ﬂﬂiqﬁiﬁmmﬁ#mﬁ%ﬁﬁﬂaﬁ
—

117.

) q18 &1 oFES e T S

(@) et g e e e <1
P-1I/M

118, aeh gfe § FAH—
(1) WS = TaEd § 7 F &
(2) Tt A afes = @
(3) ==t B o & AR F A R
(4) =it A v &
119, 3= wafE T H gewEmh § IFgaR el
TE e —
(1) wga-dt anell § aREE wE
(2) e fédt e 1 7 EF

(3)mmmaﬁ%ul%maﬁﬁﬂﬁqaﬁ%
TH _

(4) R 3T F U F AT

120. 7R e wen & et 9= E, @ AM—
(1) 3% frdw wegfd & Tl
(2) I TG F ITH WIS

(@) ol a=t & e AR A

(4) SR FW fafaial Fd

ol JPT.O.
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